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(In the answer booklet, sudents may write the class number given against the name of the
relevant subject teacher)

Answer all questions
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1. Find the total resistance gééi{-g);-the source of the circuit shown in Fig.1 usmg J‘@
star-delta transformation and find the current flowing through 13 Q resistor. ek
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3. List three major differences between nodal and mesh analysis. For the c1rcu1t

Fig, 2.

shown in g, 3, find the voltage at the points 1, 2 and 3 using nodal analysis
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Fig. 3.
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4. In the circuit shown in Fig. 4, if the Thevenin’s voltage is V/2, estimate the value oﬁ

X Also find the maximum power delivered to the load resistance Ry.
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Fig. 4.
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1. Impedance, resistance, inductance and p.f. of the circuit
1. The power delivered to the circuit

‘111_ Draw the phasor diagram.
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is applied to a circuit and the steady currentl
14.14 sm(314 t-20°)is found to flow through it. Determine
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